Gas valves SIT

Gas valves HONEYWELL/ROBERTSHAW/DUNGS

Automatic gas ignition units, safety valves, solenoid valves

X &

G.E.V. GroRkiichen-Ersatzteil-Vertrieb GmbH Phone: +49 (0)89 745572-0

Robert-Koch-Stralle 3a Fax: +49 (0)89 745572-83

82152 Planegg/Munich order@gev-online.com

Germany www.gev-online.com Member of the GEV GROUP

Gas valves




Table of contents

Gas valves COMPOSIT/SIMPLOSIT

© GEV 2007

page 4
page 5
G page 6
(7]
s
S
©
o
page 8

2 Check availability immediately at www.gev-online.com



Table of contents

Gas valves HONEYWELL

© GEV 2007

page 10
page 12
Automatic gas stokers
page 14 G
4
Safety valves 2
o
\ page 16
Solenoid valves
page 18

B

Order fax +49 (0)89 745572-83

order@gev-online.com

www.gev-online.com 3



Gas valves

S gas valves SIT (COMPOSIT, SIMPLOSIT, ELETTROSIT, SIGMA, TANDEM)
N
>
S gas valves COMPOSIT
©
item  order no. voltage input output thermocouple pilot output no. Sit
1 101183* 230V 3/8% 3/8% M9x1 M10x1 0.680.007
2 101775 230V 3/8% 3/8% Mox1 M10x1 0.680.006
* with stuff in edgewise output
gas valves SIMPLOSIT
pos.  order no. voltage input output thermocouple pilot output no. Sit
1 106213 - 3/8« 3/8 Mox1 - 0.500.015
G
accessories and spare parts for gas valves COMPOSIT/SIMPLOSIT
(7]
(]
2
= .
>
g 5 i
(O)

item  order no. description item  order no. description
1 101055 solenoid coil 3 101276  screw connection 3/8”/¢ 12mm
) 100904  locking screw o 4mm 4 101273  olive o 12mm
100905  locking screw @ 6mm 5 101333 stuff 3/8* with o-ring

4 Check availability immediately at www.gev-online.com



Gas valves

gas valves ELETTROSIT

item  order no. voltage input output thermocouple pilot output thermocouple connection/ no. Sit
connection pilot connection

101122 24V 3/4¢ 3/4% Mox1 M10x1 bottom 0.810.171
101121 230V 172 1/2¢ Mox1 M10x1 bottom 0.810.130
106172 230V 1/2¢ 1/2% Mox1 M10x1 edgewise 0.810.123
1 106032 230V 172 1/2¢ 11/32% M10x1 bottom 0.810.156
101123 230V 3/4¢ 3/4% Mox1 M10x1 bottom 0.810.138
101124 230V 3/4¢ 3/4¢ Mox1 M10x1 edgewise 0.810.122
101518 230V 3/4¢ 3/4% 11/32% M10x1 edgewise 0.810.200
101126 230V 1/2¢ 1/2% Mox1 M10x1 bottom 0.810.136
2 101993 230V 172« 1/2% M9x1 M10x1 edgewise 0.810.126
101127 230V 3/4¢ 3/4% Mox1 M10x1 edgewise 0.810.175

accessories and spare parts for gas valves ELETTROSIT

e
K o @&

& o

item  order no. description item  order no. description item  order no. description
1 100006  piezoelectric igniter 4 101507  flange holder % straight 7 101515  screw
2 101312 micro switch 5 101508  flange holder %" elbow 100904  locking screw @ 4mm
3 101352  solenoid coil 230V 101509  flange holder % elbow 8 100905  locking screw ¢ 6mm
4 101506  flange holder %" straight 6 101502  o-ring 101602  locking screw Y4

\ \

)
>
4 5 6

7
item  order no. description suitable for item  order no. description suitable for
1 101309 extension Zanussi 5 102597  holder Zanussi
2 101310 extension Alpeninox 6 102598  spring Zanussi
3 101311  extension Alpeninox 7 102599  push button Zanussi
4 102596  protection Angelo Po

Order fax +49 (0)89 745572-83

order@gev-online.com

© GEV 2007

Gas valves

www.gev-online.com 5



Gas valves

© GEV 2007

NOVASIT 820/822

item  order no. power supply frequency  input output thermocouple output for ignition pressure (mbar) pressure control range connection for pressure  no. Sit
connection pilot burner (mbar) controller
1 101187  millivolt - 1/2% 1/2% Mox1 M10x1 - 5-50 blank 0.820.301
101162 230V 50Hz 1/2¢ 1/2¢ Mox1 M10x1 3-5 3-30 blank 0.820.010
106002 230V 50Hz 1/2¢ 1/2¢ Mox1 M10x1 2-3 3-30 punched 0.820.011
101908 230V 50Hz 1/2% 1/2% Mox1 M10x1 - 3-30 blank 0.820.018
2 101956 230V 50Hz 1/2% 1/2% Mox1 M10x1 - 5-50 blank 0.820.031
101761 230V 50Hz 1/2¢ 1/2¢ Mox1 M10x1 3-5 3-30 connection RP 0.820.034
101980 230V 50Hz 1/2¢ 1/2% 11/32¢ M10x1 3-5 3-30 blank 0.820.020
101760 220V 60Hz 1/2% 1/2% Mox1 M10x1 3-5 3-30 blank 0.820.060
101914 230V 50Hz 1/2¢ 1/2¢ - closed - 3-30 blank 0.822.114
5 101540 230V 50Hz  12¢ 172« - closed 3-5 3-30 blank 0.822.113
106005 230V 50Hz 12« 12« - closed 6-10 blank 0.822.112
101967 230V 50Hz 172 12¢ - M10x1 3-5 3-30 punched 0.822.110
G NOVASIT 824/826/827
(7]
(]
2
©
>
(72]
1]
(O)
item  order no. power supply frequency  input output thermocouple output ignition pressure  pressure control range power supply no. Sit
connection pilot burner (mbar) (mbar) for modulator
1 101688 230V 50Hz 1/2¢ 1/2 - M10x1 - 2-50 - 0.824.011
106001 230V 50Hz 1/2¢ 1/2¢ - closed 3-5 2-50 230VRAC 0.826.011
2 101163 230V 50Hz 1/2¢ 172 - M10x1 3-5 2-20 28VDC 0.827.110
106055 230V 50Hz 1/2 1/2 - closed 3-5 3-37 28VDC 0.827.111

6 Up-to-the-minute prices: www.gev-online.com



Gas valves

accessories and spare parts for gas valves NOVASIT S
S
©

1 2 3 4 5 6
item  order no. description item  order no. description
101314 solenoid coil 24V, 50Hz 101639 solenoid coil 24V, 50Hz, NOVA 822/826/827
1 101313  solenoid coil 230V, 50Hz 101542 solenoid coil 230V, 50Hz, NOVA 822/826/827
101867  solenoid coil 220V, 60Hz > 101763  solenoid coil 24V, 60Hz, NOVA 822/826/827
2 101317  plug with connecting cable 101669  solenoid coil 220V, 60Hz, NOVA 822/826/827
3 550896  gasket and screw 6 101776  plug with connecting cable 905mm
4 101318  cover
\ % O @ \ 4
2 3 4 " 5 6 7
item  order no. description item  order no. description
. 101866  solenoid coil 230V, RAC NOVA 824/826 3 101859  connecting cable with plug for rectifier
101934  solenoid coil 28VDC, NOVA 825/827 4 101065 magnetic shim NOVA 820/824
101932  modular cartridge, 2-20mbar, NOVA 827 5 101925  stuff for pilot burner, M10x1 with o-ring
: 101933  modular cartridge, 3-37mbar, NOVA 827 6 100006  piezoelectric igniter 820/ 824/ 825
7 106232  pressure controller
G
O O Vo N «\
d N
Cde s s $
1 1l 2 A 4 5 6 ©
>
item  order no. description item  order no. description %
101305  flange holder %%, straight 100905  locking screw @ 6mm 2
! 101307  flange holder %, straight : 101602 locking screw o Y4
5 101306  flange holder }2*, elbow 4 101312 micro switch
101308  flange holder %, elbow 5 100110  pilot burner for millivolt voltages
3 100904  locking screw @ 4mm 6 102116  generator for millivolt voltages

1 2 3 4 5 6 7 8
Abb.  Bestell-Nr.  Beschreibung passend fiir item  order no. description suitable for
1 101674  knob extension 57mm for NOVA 820/824/825 . | 4 101817  adapter for knob, o 10x8mm Mareno
universa
2 101359  knob extension 75mm for NOVA 820/824/825 5 101799  adapter for knob, @ 10x8mm Zanussi 004667
3 111759  knob extension 75mm for NOVA 820/824/825 MBM 6 101928  adapter for knob, @ 10x8mm Zanussi 059305
4 101301 o 6x4,6mm Mareno 8 101800 Zanussi 002604
1923500

Order fax +49 (0)89 745572-83 order@gev-online.com www.gev-online.com 7



Gas valves

s SIGMA

=3

N

>

|83

]

©

pos.  order no. power supply frequency input output pressure control range no. Sit
(mbar)
1 101989 230V 50Hz 3/4% 3/4% 2-50 0.840.016
2 106009 230V 50Hz 3/4% 3/4% 0,5-12 0.848.037
accessories and spare parts for gas valves SIGMA
G
pos.  order no. description power supply frequency
1 106214  solenoid coil 230V 50Hz

(7]

(]
2

©

>

(72]

1]
(O)

8 40,000 quality spares permanently in stock



Gas valves

TANDEM

item orderno.  powersupply  frequency input output output level ignition time  pressure control  power supply no. Sit
pilotbuner  slow-ignition range (mbar) modulator
106219 230V 50Hz 1/2¢ 1/2¢ M10x1 standard 3-7s - - 0.830.020
101189 230V 50Hz 1/2¢ 1/2¢ M10x1 - - 3-50 - 0.830.040
! 101881 230V 50Hz 1/2¢ 1/2¢« - - - 3-50 - 0.830.041
101684 230V 50Hz 1/2¢ 1/2¢ - standard 3-7s 3-50 - 0.830.034
2 106230 24V 50Hz 1/2” 1727 M10x1 - - 3-50 - 0.830.100
3 101984 230V 50Hz 1/2¢ 1/2¢ - - - 2-50 230VRAC 0.836.010
101985 230V 50Hz 1/2¢ 1/2¢ - - - 6-50 230VRAC 0.836.021
accessories and spare parts gas valves TANDEM
1 E 2 ‘\ 3“ 4
item orderno. description item  orderno. description
1 101379  solenoid coil 230V, 50Hz 4 101866  solenoid coil for modulator 230VRAC
2 101935  plug with cable 1000mm 5 101859  connecting cable for rectifier, with plug
3 101936  gasket and screw

O
>

~

4
item  order no. description item  order no. description
1 102846 flange holder /5", straight 100904  locking screw @ 4mm
2 102845 flange holder 2", elbow 5 100905  locking screw @ 6mm
3 101275  screw connection }2“ - @ 16mm 101602  locking screw Y4
4 101274  olive o 16mm 6 101925  stuff for pilot burner, M10x1, with o-ring

Order fax +49 (0)89 745572-83

order@gev-online.com

© GEV 2007

Gas valves

www.gev-online.com 9



Gas valves

gas valves HONEYWELL

V4400/4600

© GEV 2007

item  order no. supply frequency input output thermocouple output for pressure control type operator no. Honeywell
operator connection pilot burner range (mbar)
1 102368 230V 50Hz 3/4¢ 3/4« 11/32% Mllix1 2,5-20 230V (V404A 1071) V4400A 1025
2 101120 230V 50Hz 3/4% 3/4% 11/32% Mll1x1 2,5-20 230V (V404A 1071) V4400C 1211
106229 230V S50Hz 1/2¢ 1/2¢ 11/32¢ Mll1x1 5-50 230V (V404A 1071) V4600A 1031
3 101119 230V S50Hz 1/2¢ 1/2 11/32* Mllix1 2,5-20 230V (V404A 1071) V4600C 1029
106059 230V 50Hz 023mm ¢ 23mm, straight 11/32% Ml1x1 2,5-20 230V (V404A 1071) V4600C 1128

G VK4105/4115

Gas valves

item  order no. power supply  frequency input output thermocouple connection  output pilot burner pressure control range (mbar) no. Honeywell
106007 230V 50Hz o 18,6mm ¢ 18,6mm, straight - - 5-50 VK4105A 1118
106004 230V 50Hz 0 18,6mm ¢ 18,6mm, straight - - 2-50 VK4105C 1009

. 101186 230V 50Hz o 18,6mm ¢ 18,6mm, straight - - 1,5-20 VK4105C 1041

106012 230V 50Hz o 18,6mm o 14mm, edgewise - - 5-50 VK4115V 1014
106206 230V 50Hz 0 18,6mm ¢ 14mm, edgewise - - 5-50 VK4115V 1097
106054 230V 50Hz 0 18,6mm ¢ 18,6mm, straight - - 5-50 VK4115V 1154

) 106008 230V 50Hz 1/2% 1/2%, straight - - 8-50 VK4105P 2037
102320 230V 50Hz o 18,6mm ¢ 18,6mm, straight - - 4-37 VK4105Q 2010

10 Search by any criteria: www.gev-online.com



Gas valves

VR4605 §
N
>
m
@)
©

item  order no. supply frequency input output thermocouple output for pressure control  type operator no. Honeywell
operator connection pilot burner range (mbar)
| 106010 230V 50Hz o 18,6mm 1/2%, straight - - 3-37 230V (V404A 1071) VR4605A 1013
101164 230V 50Hz 172 1/2%, straight - - 3-37 230V (V404A 1329) VR4605A 1037
2 101395 230V 50Hz 1/2¢ 1/2%, straight - - 8-50 230V (V404A 1071) VR4605P 2015
accessories and spare parts gas valves HONEYWELL
\ “ ’ - O
s
1 s 3 4 6 G
item  order no. description item  order no. description
1 101064  solenoid coil 6 101305  flange holder 2%, straight
2 101494  union screw M11x1, o 6mm 101307  flange holder %, straight
3 102369  button red ; 101306  flange holder }2*, elbow
("]
4 102370  button black 101308  flange holder %4, elbow g
5101320 ©
cover S
(7]
©
(&)

5

item  order no. description item  order no. description
101324  pressure controller 2,5-20mbar, natural gas 4 101408  operator millivolt
! 101399  pressure controller 5-50mbar, LPG 101532  operator 24V
5 106220  magnetic pressure controller 3-37mbar : 101319  operator 230V
101426  magnetic pressure controller 8-50mbar 101322 thermostat 2,5-18mbar
3 101325 blank plate 6 101323 thermostat 18-50mbar

Order fax +49 (0)89 745572-83 order@gev-online.com www.gev-online.com 11



Gas valves

o~
s gas valves ROBERTSHAW
Q
>
[Sa] .
© electric gas valves
©
item  order no. supply operator frequency input output thermocouple output for pilot burner pressure controller no. Robertshaw
connection
580032  12VDC/24VAC 50/60Hz  1/2* 1/2% 3/8“ NEF 1/4* pipe american natural gas 3,5  7000BMSER
) 106130  12VDC/24VAC 50/60Hz  1/2¢ 1/2¢ 11/32% 1/4* pipe american natural gas 6,7  7000BER-S7AL
106132 12VDC/24VAC 50/60Hz  1/2¢ 1/2% 11/32% 1/4* pipe american natural gas 6,7“  7000BER-S7CL
106131  12VDC/24VAC 50/60Hz  3/4* 3/4« 11/32¢ 1/4* pipe american natural gas 6,7  7000BER-S7CL
5 101429  120VAC 50/60Hz  3/4% 3/4% 3/8“ NEF 1/4* pipe american natural gas 3,5  7000BMSER-120
580044 120VAC 50/60Hz  3/4* 3/4% 11/32% 1/4* pipe american natural gas 3,5  7000BER-120
3 106133 220/240VAC 50/60HZ  1/2* 172 11/32¢ 1/4* pipe american natural gas 6,7  U7000ER-240-S7CL/S
101388  220/240VAC 50/60HZ  3/4% 3/4% 11/32¢ 1/4* pipe american natural gas 6,7  U7000ER-240-S7CL/S
4 106134  208/240VAC 50/60HZ 1¢ 1 11/32% 1/4* pipe american natural gas 6,7  7000ERHC-240-S7CL
millivolt controlled gas valves
G
(7]
(]
2
©
>
(72]
1]
(O)
item  order no. supply operator input output thermocouple connection  output for pilot burner pressure controller no. Robertshaw
1 106123  millivolt 3/4% 3/4+ - 1/4* pipe american without 7000BMV-S7CL
2 106125  millivolt 1/2% 1/2¢ 11/32¢ 1/4% pipe american natural gas 3,5  U7000MVRL
580031  millivolt 3/4«  3/4% - 1/4* pipe american natural gas 3,5  7000BMVR
3 106122  millivolt 1/2% 1/2% - 1/4* pipe american natural gas 4,0  7000BMVR
106124  millivolt 3/4% 3/4+ - 1/4* pipe american natural gas 6,7 7000BMVRL
12 We are constantly extending our range: www.gev-online.com



gas valves controlled by gas

Gas valves

item  order no. supply operator input output thermocouple connection  output for pilot burner pressure controller no. Robertshaw
1 106128 gas 3/4% 3/4+ 11/32% 1/4* pipe american without 7000BGO
101430  gas 3/4% 3/4¢ 11/32¢ 1/4% pipe american natural gas 3,5 7000BGOR-S7B
) 580043  gas 3/4% 3/4¢ 3/8“ NEF 1/4* pipe american natural gas 3,5“ 7000BMSGOR
106129  gas 1/2% 1/2¢ 11/32¢ 1/4* pipe american natural gas 4,0 U7000AGORL
106127  gas 1/2% 1/2¢ 11/32¢ 1/4% pipe american natural gas 5,2 7000BGOR

© GEV 2007

accessories and spare parts for ROBERTSHAW

A\

D e

2
item  order no. description item  order no. description item  order no. description
1 101043  solenoid coil millivolt 4 101404  operator 240VAC, LPG 7 101393  blocking plate LPG
101042  solenoid coil thermocouple, 11/32* 101422  operator millivolt, natural gas 106121  pressure controller natural gas, 3,5
2 101047  solenoid coil thermoelectric generator, 101403  operator 24VAC, natural gas 8 101389  pressure controller natural gas, 6,7
3/8“NEF 3
3 580035 thermoelectric generator, 3/8“ NEF 101418  operator 120VAC, natural gas 101416  spring for pressure controller, LPG %
101421  operator millivolt, LPG 101406  operator 240VAC, natural gas 9 101415 spring for pressure controller, ;
natural gas ©
4 101402  operator 24VAC, LPG 106135  operator 120VAC, LPG, with cable 2
101417  operator 120VAC, LPG 6 106136  operator 240VAC, LPG, with cable

Cxo 3

item  order no. description item  order no. description
1 112142  knob 4 560318  screw for slot cover
2 580033  knob 5 102983  reducer 3/4“-1/2* FPT
3 106120  slot cover 6 101419  locking screw 1/4* pipe american

Order fax +49 (0)89 745572-83 order@gev-online.com www.gev-online.com 13



Gas valves/automatic gas’ignition units

o~
s gas valves DUNGS
N
>
m
)
Q
item  order no. power supply frequency input output no. Dungs
1 106050 230V 50/60Hz 1/2¢ 1/2¢ GB 055 243 443
2 106051 230V 50/60Hz 12¢  1/2¢ GB-WND 055 243 442
automatic gas ignition units
SIT
item  order no. number electrodes  waiting time safety time no. Sit item  order no. number electrodes  waiting time safety time no. Sit
nla* 2 1,5s 10s 0.501.067 102308 2 1,5s 10s 0.503.101
G 102303 2 1,5s Ss 0.501.201 2 101683 2 1,5s 10s 0.503.102
| 102317 2 1,5s 10s 0.501.213 102387 1 1,5s 60s 0.503.204
102304 2 1,5s 10s 0.501.219 102309 3 1,5s 10s 0.537.001
102305 2 Ss Ss 0.501.227 102300 1 1,5s 10s 0.537.101
nla* - - - 0.501.237 3101990 3 1,5s Ss 0.537.307
g 101685 2 1,5s 10s 0.503.003 102299 1 1,5s 10s 0.577.101
% 2 102306 1 1,5s Ss 0.503.004 102346 2 1,5s 6s 0.577.307
; 102307 2 1,5s 30s 0.503.005
8 * no longer available

HONEYWELL

2
item  order no. number eletrodes  waiting time safety time no. Honeywell item  order no. number electrodes  waiting time safety time no. Honeywell
101165 1 0Os 10s S4560A 1008 102367 2 0Os 10s S4565A 2092
101166 1 0Os 10s S4560B 1006 102318 2 Os 10s S4565AF 1007V01
! 102347 1 10s Ss S4560M 1010 2 102381 2 Os Ss S4565BD 1064
102358 1 0Os Ss S4570AS 1012 101184 - - - S4565C 1033
2 102343 - - - S4565A 2019 102353 2 0Os 10s S4575B 1033

14 GEV parts are original parts



BRAHMA

Automatic gas'stokers

o~
(]
S
N
>
m
)
©
2 3
item  order no. number electrodes  waiting time safety time no. Brahma item  order no. number electrodes  waiting time safety time no. Brahma
| 102337 2 1,5s Ss 37100204 2 102338 2 Ss 24019905
106006 2 1,5s 10s 37101207 3102340 1 10s 24080001
various automatic gas ignition units
B ot .
i : '!\.'-F ":.‘ T
o e ":: - e o ] =
@' " - e __.- - :
- L] g, - e -
“, P L N S .
% ey L : T
- . .,
b= -
- - = il o
1 2 b
item  order no. producer type waiting time safety time suitable for
1 101377  White Rodgers 50A72-214 0Os Ss Lainox G
2 101569  White Rodgers 50A72-213 0Os 2s Fagor
3 101577  Bertelli AMI11 2s 10s Ambach
(7]
[
=
©
>
(7]
(1]
(&)

2
item  order no. producer type waiting time safety time suitable for
1 102378 Dungs DGAI 73 3s 10s MKN
2 102373 Imit 576307 2s 10s Star 10
3 102380 Rational - - - Rational

Order fax +49 (0)89 745572-83

order@gev-online.com

www.gev-online.com 15



Safety valves

safety valves

ORKLI/JUNKERS

©GEV 2007

3
item  order no. fixing pressure input output thermocouple connection  no. Junkers
1 101495  front fixing, M12x0,75 50mbar 1/8% outer 1/8% inner M8x1 CV101003
5 101496  front fixing, M12x0,75 S0mbar M12x1 outer o 8mm MS8x1 CV101002
101498  front fixing, M12x0,75 50mbar MI15x1 outer o 8mm M8x1 CV101008
3 101497  front fixing, M12x0,75 50mbar M12x1,5 outer M12x1,5 inner M8x1 CV101007
4 101197  front fixing, M12x0,75 4bar 1/8* outer 1/8% inner M8x1 Ccvio1016
5 101196  front fixing, M12x0,75 4bar M14x1,5 outer o 8mm MS8x1 CV101015
pos.  order no. pressure input output ignition gas thermocouple connection no. Junkers
G 1 102817  50mbar 3/8« 3/8 MS8x1 M10x1 CV202015
accessories and spare parts for ORKLI/JUNKERS
(7}
o
2
©
>
(7}
©
(O)
item  order no. description length (mm) D1 (mm) D2 (mm) item  order no. description
101051  solenoid coil 27 12, 8,5 2 101501 nut M12x0,75
ordinary pressure
) 101046  solenoid coil high pressure* 27 12,5 8,5 3 101499  protective cover M12x0,75
101060  solenoid coil 35 154 10,5
ordinary pressure
101048  solenoid coil high pressure* 35 15.4 10,5

*unsuitable for large kitchen devices

16 Is the spare available? www.gev-online.com



Safety valves

o~
SIT s
Q
s q: %
F o}
©
1 2 &
item  order no. fixing pressure input output ignition gas thermocouple connection  no. Sit
1 101470 front fixing M12x1 S0mbar 1/8* inner 1/8* outer - M8x1 0.400.088
5 101471  front fixing M12x1 S0mbar 1/4% outer 1/4% outer - M8x1 0.400.006
106218  without fixing S50mbar 3/8% outer 3/8% outer - M8x1 0.400.007
3 101138  without fixing 50mbar 3/8% outer 3/8% outer M10x1 M9x1 0.420.040
101677  without fixing S50mbar 3/8% outer 1/4* inner M10x1 M9x1 0.420.038
4 101676 front fixing M14x1 S50mbar 3/8% outer 3/8% outer M10x1 M9x1 0.420.025
- nla* front fixing M14x1 50mbar 3/8% outer 3/8% outer M10x1 M9x1 0.420.051
* no longer available
accessories and spare parts for SIT
2 8 4 - @
item  order no. description item  order no. description
| 101052  solenoid coil Sit 0.400 3 101299  nut M12x1
101055  solenoid coil Sit 0.420 102382  nut M14x1 G
5 102383  knurled nut M12x1 4 100909 locking screw M10x1, @ 6mm
102384  knurled nut M14x1 5 101286 olive 8 6mm
0
o
2
©
>
7]
©
(O)

N

pos.  order no. input output thermocouple connection  pilot output no. Sit pos.  order no. input output thermocouple connection  pilot output no. Sit

1 101100  1/2*  1/2% MOx1 MI10x1 0.440.013 2 101101  3/4¢  3/4¢ Mox1 MI10x1 0.440.005

accessories and spare parts D3

pos.  order no. description pos.  order no. description

1 100904 locking screw @ 4mm 2 100905 locking screw @ 6mm

Order fax +49 (0)89 745572-83 order@gev-online.com www.gev-online.com 17



Gas solenoid valves

©GEV 2007

Gas valves

gas solenoid valves BRAHMA

brass solenoid valves

Technical data:

fast opening, fast closing, without volume presetting.
P min: Obar

P Max: 500mbar
no. CE reg..: 63AQ0626

pos.  order no. connection nominal width (mm) supply overall length (mm) coil type
1 101486  3/8“ 10 230VAC 56 13747002
2 101487  1/2¢ 10 230VAC 56 13742002
solenoid valves aluminium
Technical data:
slow opening, fast closing, with volume presetting.
P min: Obar
P Max: see table
no. CE reg..: 63AQ0626
pos.  order no. connection nominal width (mm) supply overall length (mm) P max (mbar) coil type
1 101488  1/2¢ 15 230VAC 72 250 13922051
2 101490  3/4 25 230VAC 96 300 13932000
3 101492 1 30 230VAC 111 350 13942000
4 101493  11/2* 40 230VAC 138 200 13950200
Technical data:
fast opening, fast closing, without volume presetting.
P min: Obar
P max: see table
no. CE reg..: 63AQ0626
pos.  order no. connection nominal width (mm) supply overall length (mm) P max (mbar) coil type
1 101948 172 15 230VAC 72 500 13902001
2 106069  3/4% 25 230VAC 96 500 18813004
3 106071 1 30 230VAC 111 500 18813014
accessories and spare parts for gas solenoid valves BRAHMA
2 3
item  order no. supply power o inlet (mm) coil type item  order no. supply power o inlet (mm) coil type
101520 230VAC 20VA 17 13747002 101523  230VAC 33VA 30 13932000
| 101521  230VAC 20VA 17 13742002 101524 230VAC  35VA 30 13942000
101522  230VAC  20VA 17 13922051 2 101525  230VAC 37VA 30 13950200
101968 230VAC 20VA 17 13902001 106070  230VAC 37VA 30 18813004
106072 230VAC 37VA 30 18813014
3 106242  230VAC 20VA 17 18811151

18 All the spares with prices and technical details: www.gev-online.com



Gas solenoid valves

- o~
gas solenoid valves DUNGS S
Q
solenoid valves aluminium 2
Qo
©
Technical data:
slow opening, fast closing, with volume presetting.
P min: Obar
P max: 200mbar
no. CE reg..: 63AQ0626
pos.  order no. connection supply overall length (mm)
1 102379 1/2¢ 230VAC 76
2 102385  3/4¢ 230VAC -
3 102386 1€ 230VAC -
gas solenoid valves BRAHMA
brass solenoid valves
Technical data:
P min: Obar
P max: 140mbar
plug case: DIN
, G
pos.  order no. connection supply overall length (mm)
1 101378 1/2¢ 230VAC 58
gas solenoid valves KROMSCHRODER
solenoid valves aluminium 4
>
©
>
(2]}
1]
(O}

Technical data:

P min: Obar

P max: 360mbar

no. CE reg. CE-0085AP0975

pos.  order no. connection supply overall length (mm)

1 101472 Ml2x1 230VAC 52

Order fax +49 (0)89 745572-83 order@gev-online.com

www.gev-online.com 19



Gas solenoid valves

— . .
s gas solenoid valves BURKERT
Y
>
8a]
QO
©
Technical data:
type series: 0285
P min: Obar
P max: 0,5bar
membrane: NBR
supply: 230VAC
no. CEreg... CE-0085AS0391
pos.  order no. connection nominal width (mm)  overall length (mm)
1 370281 1/2¢ 12 74,5
Technical data:
type series: 0285
P min: Obar
P max: 0,5bar
membrane: NBR
supply: 230VAC
no. CEreg...  CE-0085AS0391
pos.  order no. connection nominal width (mm) overall length (mm)
1 370282  3/4¢ 20 100
2 370283 1€ 25 115
gas solenoid valves TECNOCONTROL
G
brass solenoid valves, off-current, open
Technical data:
g type series: VRS
2 P min: Obar
g P max: 0,55bar
) membrane: NBR
1]
(O)
pos.  order no. connection supply
1 102941  1/2¢ 230VAC
2 102942 3/4¢ 230VAC
3102943 1 230VAC

order no.: P020602501
L ——————— | | {{|l]





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (None)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Europe ISO Coated FOGRA27)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.6
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 524288
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Courier
    /Courier-Bold
    /Courier-BoldOblique
    /Courier-Oblique
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Oblique
    /Symbol
    /Times-Bold
    /Times-BoldItalic
    /Times-Italic
    /Times-Roman
    /ZapfDingbats
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 72
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 72
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 150
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /DEU ([Basiert auf "eBook sehr klein"] )
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements true
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [72 72]
  /PageSize [612.000 792.000]
>> setpagedevice


